
INDIAN SCHOOL MUSCAT 

FINAL EXAMINATION 

CLASS IX 

Marking Scheme – [ENGLISH] 

Q.NO. Answers Marks 

1 ANY TEN 10x1=10 

1.1 i. convenient. 

ii. many species of sea mammals are dying. 

iii. Send them off to the landfill. 

iv. cloth bags. 

v. Reuse 

vi. Trees are cut to make them. 

vii. Most of the people oppose the banning of plastic mainly due to its convenience 

and durability. 

viii. Burning plastic emits toxic gases that harm the atmosphere and increase the 

level of VOCs in the air while landfills hold them indefinitely. 

ix. Mammals mistake the size, shape and texture of the plastic bag for a meal and 

find its airway cut off. These plastic bags enter the mouths, stomachs and 

intestinal tracts of sea mammals. 

x. Most municipalities either burn the plastics or send them off to the landfill after 

sorting. This is because it can be expensive to recycle this type of plastic. It 

doesn’t melt down easily and is often not fit to be reused in its original form. 

xi. Paper bags are a possible option, but they also take their toll on the environment 

as trees are cut. Reusable bags are stronger and more durable. Another option 

is the reusable cloth bag. 

xii. suffocation 

 

 

 

 

2 ANY TEN 10x1=10 

2.1 i. Nehru Park Post Office 

ii. it bears the design of a boatman rowing a Shikara. 

iii. Shikara 

iv. Western 

v. 2014 

vi. 1-2 crore 

vii. Floating Post Office situated on Dal Lake 

      viii. Chief postmaster 

ix. have the design of Dal Lake 

x. an office, museum and a shop 

xi. Floating Post Office, Dal Lake – claimed to be the only one such post office in 

the world 

xii. secured 

  

 

 

 

 

 

 

 

 

 

3 CONTENT-3  ACCURACY-1  EXPRESSION-1 5 

4 CONTENT-3  IMAGINATION-1  EXPRESSION-1 5 

SET A 



5 ANY TEN 

a. how he could be so sure 

b. had watched  

c. growing  

d. would  

e. some  

f. Ravi said that he had played that game the previous week. 

g. iv. is  

h. i. is  

i. i. Nancy said that she might leave the next day 

j. ii. Keshav informed that Rita was busy then 

k. iii. Vidushi said that they had gone for a summer trip 

l. i. He said that he had been a great mentor 

10x1=10 

6 i) 

a. In these lines, the speaker is Kezia, the little girl  

b. It is addressing Alice, the cook. 

c. When Kezia has nightmares, she is comforted by her grandmother who takes the little 

girl into her bed. 

d. Kezia can’t stay in the dark because she is a little girl and the deep silence of darkness 

scares her. 

e. Kezia’s Grannie is at the hospital with Kezia’s mother who is unwell. 

OR  

ii) 

a. The thief’s brother makes this plea to the king of the Kingdom of Fools. 

b. The ‘ancient trade’ was the burglary that the thief had committed. 

c. The thief, who had broken into the house of the merchant, had been killed because a 

wall of the old house of the merchant had collapsed and fallen on his head. 

d. The wall that led to the thief’s death had collapsed because it had become weak after 

the thief had made a hole in it to sneak into the house of the merchant. Hence, the 

merchant was not to be blamed for the thief’s death (relevant point). 

e. (iii) the bricklayer had not built it right 

5x1=5 

7 i)  

a. Leaves turned yellow because of the autumn season 

b. He felt like travelling both the roads as both of them looked equally fair and 

promising. Although they had been worn out equally, that morning both lay untrodden 

c. thinking to which road to be opted 

d. can choose only one road 

e. iv) about the choices made by people  

                                  OR 

ii) 

a. We should remember that no men are strange and no country is foreign. 

b. The different uniforms by different kind of people. 

c. They walk on this earth. 

5x1=5 



d. We all shall lie in the earth at the end of our life. 

e. The Poet/  James Kirkup  

8.  i. What did Margie write in her diary? 

On 17 May 2157, Margie wrote that that day Tommy had found a real book in the attic 

of his house. It was an old book with yellow, crinkly pages. 

 

ii. Why does the intruder intend to kill Gerrard? 

The intruder is a criminal who is being chased by the police for having murdered a cop. 

As per his plan, the intruder intends to kill Gerrard in order to take on his identity and 

avoid being caught by the police. In this way, he can lead a peaceful life without being 

haunted by the fear of arrest and punishment. 

 

iii. Who were Abdul Kalam’s school friends? What did they later become? 

Abdul Kalam had few friends. Ramanadha Sastry, Aravindan, and Shivaprakasan were 

his close friends. Ramanadha became a priest, Aravindan became a transport 

businessman and Shivprakasan had a catering contract with Southern railways. 

 

iv. How does the wind make fun of the weaklings? 

The strong wind uses his destructive power to harm weak persons and delicate things. 

Without showing any mercy or sympathy, he crushes weak houses, crumbling doors, and 

even human lives and hearts. By moving violently and destroying the weak, he seems to 

make fun of their helplessness. 

 

v) What did Saint Peter ask the old lady for? What was the lady’s reaction? 

Saint Peter asked the old lady for one of her baked cakes to satisfy his hunger. The lady 

tried to bake a small cake for the saint (any relevant points). 

4x3=12 

 

9 i) How did the mother distract the child’s mind from the toy seller? 

The child’s mother drew his attention to the flowering mustard field to distract his mind 

from the toy seller. Here he saw colourful dragon-flies with gaudy purple wings, black 

bee and butterflies. He gazed at them as they flew in the air. 

 

ii) How, according to the king, had justice come full circle? 

Justice had come full circle, according to the king, as the blame of the crime had come 

back to the rich merchant after being passed on to the bricklayer, the dancing girl, the 

2x3=6 



jeweller, and his own father. 

 

iii) Describe the physical appearance of Lushkoff when Sergei observes him in his yard. 

Sergei observed Lushkoff closely when the latter came to his yard asking for alms. At 

that time, Lushkoff had a ragged appearance. He had worn a fawn-coloured overcoat and 

his eyes were dull and drunken. There was a red spot on either cheek. He looked every 

bit a disgusting beggar. 

 

 

10.  i) How does the poem justify that people in all countries of the world are essentially the 

same? 

The poet justifies the statement that people living in different countries are essentially the 

same by asserting that ‘no men are strange’. Every single body breathes and functions in 

the same way as ours. Each one of us equally needs the sun, air and water. Human hands 

too are used for the similar purpose of toiling for livelihood. Eyes too perform the similar 

function of sleeping and waking up. Love wins us all and we all recognize its power. In 

peace times, we all flourish and wars starve us. Hatred leads us astray and when we take 

up arms against each other, the entire earth is defiled and destroyed. Therefore, we all 

like peace which showers abundance and prosperity on us. Therefore, essentially we all 

are the same.  (any relevant points) 

OR 

ii) Give an account of the awards, accolades and recognition that Bismillah Khan earned 

as a talented musician. 

 Film director Vijay Bhatt was so impressed after after hearing Bismillah play at a 

festival that he   named a film after the instrument called ‘Gunj Uthi Shehnai’. The film 

was a hit, and one of   Bismillah’s compositions turned out to be a nationwide 

chartbuster. He also became the first Indian to be invited to perform at the prestigious 

Lincoln Centre Hall in the U.S.A. He took part in the World Exposition in Montreal, in 

the Cannes Art Festival and in the Osaka Trade Fair. So well known did he become 

internationally that an auditorium in Teheran was named after him Tahar Mosque Ustaad 

Bismillah Khan.   National awards like the Padmashri, the Padma Bhushan and the 

Padma Vibhushan were conferred on him. In 2001, he was awarded India’s highest 

civilian award, the Bharat Ratna.                          

1x6=6 



11 i) ‘Iswaran is a fascinating storyteller’. Discuss. 

Iswaran is a fascinating storyteller who could weave out endless stories and anecdotes. 

He acquired this talent by reading Tamil thrillers. He would read these novels every day 

after lunch and relate them to his master in his leisure time. He always added suspense 

and surprise even to the smallest incident and could make up innumerable stories on 

different subjects. He would use facial and body expressions to add interest to the story. 

He would raise his eyebrows, wave his hands, and jump about imitating the characters in 

his stories. He would narrate a story in instalments and purposely leave it unfinished 

midway. On returning, he would not pick it up right away till reminded by his listener. 

He would narrate a new story every day and fill it with adventure, horror and suspense, 

thus entertaining Mahendra as television does. 

 

                                     OR 

ii) Describe how the Guru saved his disciple from execution. 

The disciple was brought on the stake for execution. Then he prayed to his guru in his 

heart. His guru arrived at once. He told something in a whisper to the disciple. Then the 

guru and his disciple got into a fight. The king got curious. He wanted to know why the 

guru wanted to die. The guru told the king that whoever died on the new stake first 

would be reborn as a king. The person who died next would be reborn as a minister.  He 

king and the minister decided to go to the stake themselves. They wanted to be reborn as 

king and minister respectively. They were taken to the stake and promptly executed. The 

guru thus saved his disciple by befooling the king.  

 

1x6=6 

 



INDIAN SCHOOL MUSCAT 

FINAL EXAMINATION 

CLASS IX 

Marking Scheme – [ENGLISH] 

Q.NO. Answers Marks 

1 ANY TEN 

i. Nehru Park Post Office 

ii. it bears the design of a boatman rowing a Shikara. 

iii. Shikara 

iv. Western 

v. 2014 

vi. 1-2 crore 

vii. Floating Post Office situated on Dal Lake 

      viii. Chief postmaster 

ix. have the design of Dal Lake 

x. an office, museum and a shop 

xi. Floating Post Office, Dal Lake – claimed to be the only one such post office in 

the world 

xii. secured 

 

10x1=10 

2 ANY TEN 

 

10x1=10 

 i. convenient. 

ii. many species of sea mammals are dying. 

iii. Send them off to the landfill. 

iv. cloth bags. 

v. Reuse 

vi. Trees are cut to make them. 

vii. Most of the people oppose the banning of plastic mainly due to its convenience 

and durability. 

viii. Burning plastic emits toxic gases that harm the atmosphere and increase the 

level of VOCs in the air while landfills hold them indefinitely. 

ix. Mammals mistake the size, shape and texture of the plastic bag for a meal and 

find its airway cut off. These plastic bags enter the mouths, stomachs and 

intestinal tracts of sea mammals. 

x. Most municipalities either burn the plastics or send them off to the landfill after 

sorting. This is because it can be expensive to recycle this type of plastic. It 

doesn’t melt down easily and is often not fit to be reused in its original form. 

xi. Paper bags are a possible option, but they also take their toll on the environment 

as trees are cut. Reusable bags are stronger and more durable. Another option 

is the reusable cloth bag. 

xii. suffocation 

 

 

 

 

 

 

 

 

 

 

3 CONTENT-3  ACCURACY-1  EXPRESSION-1 5 

SET B 



4 CONTENT-3  IMAGINATION-1  EXPRESSION-1 5 

5 ANY TEN 

a. how he could be so sure 

b. had watched  

c. growing  

d. would  

e. some  

f. Ravi said that he had played that game the previous week. 

g. iv. is  

h. i. is  

i. i. Nancy said that she might leave the next day 

j. ii. Keshav informed that Rita was busy then 

k. iii. Vidushi said that they had gone for a summer trip 

l. i. He said that he had been a great mentor 

10x1=10 

6 i) 

a. In these lines, the speaker is Kezia, the little girl  

b. It is addressing Alice, the cook. 

c. When Kezia has nightmares, she is comforted by her grandmother who takes the little 

girl into her bed. 

d. Kezia can’t stay in the dark because she is a little girl and the deep silence of darkness 

scares her. 

e. Kezia’s Grannie is at the hospital with Kezia’s mother who is unwell. 

OR  

ii) 

a. The thief’s brother makes this plea to the king of the Kingdom of Fools. 

b. The ‘ancient trade’ was the burglary that the thief had committed. 

c. The thief, who had broken into the house of the merchant, had been killed because a 

wall of the old house of the merchant had collapsed and fallen on his head. 

d. The wall that led to the thief’s death had collapsed because it had become weak after 

the thief had made a hole in it to sneak into the house of the merchant. Hence, the 

merchant was not to be blamed for the thief’s death (relevant point). 

e. (iii) the bricklayer had not built it right 

5x1=5 

7 i)  

a. Leaves turned yellow because of the autumn season 

b. He felt like travelling both the roads as both of them looked equally fair and 

promising. Although they had been worn out equally, that morning both lay untrodden 

c. thinking to which road to be opted 

d. can choose only one road 

e. iv) about the choices made by people  

                                  OR 

ii) 

a. We should remember that no men are strange and no country is foreign. 

b. The different uniforms by different kind of people. 

5x1=5 



c. They walk on this earth. 

d. We all shall lie in the earth at the end of our life. 

e. The Poet/  James Kirkup  

8.  i. Why was Margie doing badly in geography? What did the County Inspector do to help 

her? 

Margie had been doing badly in geography. This was because the mechanical teacher 

was very fast in displaying the questionnaire. The County Inspector adjusted its speed 

upto an average ten-year level. Thus, the mechanical teacher’s speed was controlled 

appropriately. The County Inspector assured that the overall pattern of Margie’s progress 

was quite satisfactory. 

 

ii. Why does the intruder intend to kill Gerrard? 

The intruder is a criminal who is being chased by the police for having murdered a cop. 

As per his plan, the intruder intends to kill Gerrard in order to take on his identity and 

avoid being caught by the police. In this way, he can lead a peaceful life without being 

haunted by the fear of arrest and punishment. 

 

iii. Who were Abdul Kalam’s school friends? What did they later become? 

Abdul Kalam had few friends. Ramanadha Sastry, Aravindan, and Shivaprakasan were 

his close friends. Ramanadha became a priest, Aravindan became a transport 

businessman and Shivprakasan had a catering contract with Southern railways. 

 

iv. How does the wind make fun of the weaklings? 

The strong wind uses his destructive power to harm weak persons and delicate things. 

Without showing any mercy or sympathy, he crushes weak houses, crumbling doors, and 

even human lives and hearts. By moving violently and destroying the weak, he seems to 

make fun of their helplessness. 

 

v) What did Saint Peter ask the old lady for? What was the lady’s reaction? 

Saint Peter asked the old lady for one of her baked cakes to satisfy his hunger. The lady 

tried to bake a small cake for the saint (any relevant points). 

4x3=12 

 

9 i) What are the things that the child sees on his way to the fair? Why does he lag behind? 

The child sees toys, insects, worms, and flowers on his way to the fair. He gets lured by 

these things and stops frequently to watch them longingly. Thus, he fails to keep pace 

with his parents and lags behind. 

2x3=6 



ii) How, according to the king, had justice come full circle? 

Justice had come full circle, according to the king, as the blame of the crime had come 

back to the rich merchant after being passed on to the bricklayer, the dancing girl, the 

jeweller, and his own father. 

 

iii) Describe the physical appearance of Lushkoff when Sergei observes him in his yard. 

Sergei observed Lushkoff closely when the latter came to his yard asking for alms. At 

that time, Lushkoff had a ragged appearance. He had worn a fawn-coloured overcoat and 

his eyes were dull and drunken. There was a red spot on either cheek. He looked every 

bit a disgusting beggar. 

 

 

10.  
i) Why is the poet deeply attached with the Lake Isle of Innisfree? Explain. 

Innisfree is a simple island in the lake where the poet has spent his childhood days. The 

poet is in search of peace and calmness which the Lake Isle of Innisfree can provide him. 

The environment is natural and peaceful and the poet desires to visit this island. 

According to the poet, on this island, peace comes down slowly in the small drops. 

Moreover, he is very much attracted by the melodious sounds made by cricket. In fact, 

that sound has a deep impact on the poet. The poet believes the lake’s waves hit the shore 

and crease at the low sound which gives aesthetic pleasure. Really, he wants to live on 

this island. Thus, it can be said that he is deeply attached to the Lake Isle of Innisfree. 

 (any relevant points) 

OR 

ii) Write a brief character sketch of Santosh Yadav. 

Santosh Yadav was born in a traditional family. She was born in the small village of 

Joniyawas in Haryana. The girl was given the name Santosh, which means 

‘contentment.’ But Santos was not always content with her place in a traditional way of 

life. She began living life on her own terms from the start. Where ever other girls wore 

traditional Indian dresses. Santosh preferred short. Santosh did not yield to the traditions. 

In opposition to her family, she enrolled herself in a school in Delhi. When her parents 

refused to pay for her education, she politely informed them of her plans to earn money 

by working part-time to pay her school fees. This shows that she was a determined child. 

She developed a love for mountaineering. She saved money and enrolled herself in a 

course of mountaineering. She scaled Mt. Everest twice. This is the achievement of her 

heroic character. 

1x6=6 

11 i) How did the swallow exhibit the values of unconditional love and devotion?  

The swallow happened to stop by at the city where the statue of the Happy Prince was 

1x6=6 



placed. It was the sheer chance that he took shelter between the feet of the statue for just 

one night on way to Egypt, but stayed back till his last breath because he was moved by 

the Prince’s selfless love, kindness and spirit of self-sacrifice. This act of the swallow 

shows the qualities of compassion, understanding and helpfulness in his character. He 

helped the Prince by becoming his messenger and carrying the jewels from the statue to 

the seamstress, the playwright and the match girl. He became a constant companion to 

the Prince after both the sapphires had been plucked out from his eye sockets. The 

swallow loved the Prince unconditionally and became his eyes by flying over the city 

and reporting the hardships and miseries of the people. He would faithfully follow all the 

orders of the Prince and carry the gold leaves from the statue and give them to the needy. 

Thus, the good values of the swallow helped him to remain a loving companion to the 

Prince till cold and hunger snatched away his life. 

                                     OR 

ii) Describe the first meeting between Sergei and Lushkoff. How did Sergei take pity on 

Lushkofl? 

 One day advocate Sergei came across a beggar. He was dressed in very poor clothes. He 

was crying and requested Sergei to have pity on him. He told Sergei that he had the offer 

of a position in Katuga, but he did not have money to get there. So he wanted some 

money to pay for the fare. Sergei looked at the beggar closely. Suddenly he remembered 

that he had seen him the previous day in Sadovya Street. Then he had told him that he 

was a student and had been expelled for not paying his fees. At first, the beggar denied 

the charge But when Sergei rebuked him, he admitted that he earned his living by lying. 

He told Sergei that his name was Lushkoff and that he was out of work. Sergei refused to 

give him alms. But he said that he would give him work of chopping wood. He brought 

Lushkoff home. lie called his maidservant Olga and told her to take him into the 

woodshed and get some wood chopped. Sergei could see from a room that Lushkoff was 

weak as well as unwilling to do the chopping work. However, after one hour, Olga came 

and told Sergei that the wood had been chopped. Sergei gave Lushkoff half a rouble. 

 

 



INDIAN SCHOOL MUSCAT 

FINAL EXAMINATION 

CLASS IX 

Marking Scheme – [ENGLISH] 

Q.NO. Answers Marks 

1 ANY TEN 10x1=10 

1.1 i. convenient. 

ii. many species of sea mammals are dying. 

iii. Send them off to the landfill. 

iv. cloth bags. 

v. Reuse 

vi. Trees are cut to make them. 

vii. Most of the people oppose the banning of plastic mainly due to its convenience 

and durability. 

viii. Burning plastic emits toxic gases that harm the atmosphere and increase the 

level of VOCs in the air while landfills hold them indefinitely. 

ix. Mammals mistake the size, shape and texture of the plastic bag for a meal and 

find its airway cut off. These plastic bags enter the mouths, stomachs and 

intestinal tracts of sea mammals. 

x. Most municipalities either burn the plastics or send them off to the landfill after 

sorting. This is because it can be expensive to recycle this type of plastic. It 

doesn’t melt down easily and is often not fit to be reused in its original form. 

xi. Paper bags are a possible option, but they also take their toll on the environment 

as trees are cut. Reusable bags are stronger and more durable. Another option 

is the reusable cloth bag. 

xii. suffocation 

 

 

 

 

2 ANY TEN 10x1=10 

2.1 i. Nehru Park Post Office 

ii. it bears the design of a boatman rowing a Shikara. 

iii. Shikara 

iv. Western 

v. 2014 

vi. 1-2 crore 

vii. Floating Post Office situated on Dal Lake 

      viii. Chief postmaster 

ix. have the design of Dal Lake 

x. an office, museum and a shop 

xi. Floating Post Office, Dal Lake – claimed to be the only one such post office in 

the world 

xii. secured 

  

 

 

 

 

 

 

 

 

 

3 CONTENT-3  ACCURACY-1  EXPRESSION-1 5 

4 CONTENT-3  IMAGINATION-1  EXPRESSION-1 5 

SET C 



5 ANY TEN 

a. how he could be so sure 

b. had watched  

c. growing  

d. would  

e. some  

f. Ravi said that he had played that game the previous week. 

g. iv. is  

h. i. is  

i. i. Nancy said that she might leave the next day 

j. ii. Keshav informed that Rita was busy then 

k. iii. Vidushi said that they had gone for a summer trip 

l. i. He said that he had been a great mentor 

10x1=10 

6 i) 

a. In these lines, the speaker is Kezia, the little girl  

b. It is addressing Alice, the cook. 

c. When Kezia has nightmares, she is comforted by her grandmother who takes the little 

girl into her bed. 

d. Kezia can’t stay in the dark because she is a little girl and the deep silence of darkness 

scares her. 

e. Kezia’s Grannie is at the hospital with Kezia’s mother who is unwell. 

OR  

ii) 

a. The thief’s brother makes this plea to the king of the Kingdom of Fools. 

b. The ‘ancient trade’ was the burglary that the thief had committed. 

c. The thief, who had broken into the house of the merchant, had been killed because a 

wall of the old house of the merchant had collapsed and fallen on his head. 

d. The wall that led to the thief’s death had collapsed because it had become weak after 

the thief had made a hole in it to sneak into the house of the merchant. Hence, the 

merchant was not to be blamed for the thief’s death (relevant point). 

e. (iii) the bricklayer had not built it right 

5x1=5 

7 i)  

a. Leaves turned yellow because of the autumn season 

b. He felt like travelling both the roads as both of them looked equally fair and 

promising. Although they had been worn out equally, that morning both lay untrodden 

c. thinking to which road to be opted 

d. can choose only one road 

e. iv) about the choices made by people  

                                  OR 

ii) 

a. We should remember that no men are strange and no country is foreign. 

b. The different uniforms by different kind of people. 

c. They walk on this earth. 

5x1=5 



d. We all shall lie in the earth at the end of our life. 

e. The Poet/  James Kirkup  

8.  i. Why does the intruder intend to kill Gerrard? 

The intruder is a criminal who is being chased by the police for having murdered a cop. 

As per his plan, the intruder intends to kill Gerrard in order to take on his identity and 

avoid being caught by the police. In this way, he can lead a peaceful life without being 

haunted by the fear of arrest and punishment. 

ii. What did Margie write in her diary? 

On 17 May 2157, Margie wrote that that day Tommy had found a real book in the attic 

of his house. It was an old book with yellow, crinkly pages. 

iii. Who were Abdul Kalam’s school friends? What did they later become? 

Abdul Kalam had few friends. Ramanadha Sastry, Aravindan, and Shivaprakasan were 

his close friends. Ramanadha became a priest, Aravindan became a transport 

businessman and Shivprakasan had a catering contract with Southern railways. 

iv. How does the wind make fun of the weaklings? 

The strong wind uses his destructive power to harm weak persons and delicate things. 

Without showing any mercy or sympathy, he crushes weak houses, crumbling doors, and 

even human lives and hearts. By moving violently and destroying the weak, he seems to 

make fun of their helplessness. 

v) What did Saint Peter ask the old lady for? What was the lady’s reaction? 

Saint Peter asked the old lady for one of her baked cakes to satisfy his hunger. The lady 

tried to bake a small cake for the saint (any relevant points). 

4x3=12 

 

9 i) How, according to the king, had justice come full circle? 

Justice had come full circle, according to the king, as the blame of the crime had come 

back to the rich merchant after being passed on to the bricklayer, the dancing girl, the 

jeweller, and his own father. 

ii) How did the mother distract the child’s mind from the toy seller? 

The child’s mother drew his attention to the flowering mustard field to distract his mind 

from the toy seller. Here he saw colourful dragon-flies with gaudy purple wings, black 

bee and butterflies. He gazed at them as they flew in the air. 

iii) Describe the physical appearance of Lushkoff when Sergei observes him in his yard. 

Sergei observed Lushkoff closely when the latter came to his yard asking for alms. At 

that time, Lushkoff had a ragged appearance. He had worn a fawn-coloured overcoat and 

his eyes were dull and drunken. There was a red spot on either cheek. He looked every 

2x3=6 



bit a disgusting beggar. 

10.  i) How does the poem justify that people in all countries of the world are essentially the 

same? 

The poet justifies the statement that people living in different countries are essentially the 

same by asserting that ‘no men are strange’. Every single body breathes and functions in 

the same way as ours. Each one of us equally needs the sun, air and water. Human hands 

too are used for the similar purpose of toiling for livelihood. Eyes too perform the similar 

function of sleeping and waking up. Love wins us all and we all recognize its power. In 

peace times, we all flourish and wars starve us. Hatred leads us astray and when we take 

up arms against each other, the entire earth is defiled and destroyed. Therefore, we all 

like peace which showers abundance and prosperity on us. Therefore, essentially we all 

are the same.  (any relevant points) 

OR 

ii) Give an account of the awards, accolades and recognition that Bismillah Khan earned 

as a talented musician. 

 Film director Vijay Bhatt was so impressed after after hearing Bismillah play at a 

festival that he   named a film after the instrument called ‘Gunj Uthi Shehnai’. The film 

was a hit, and one of   Bismillah’s compositions turned out to be a nationwide 

chartbuster. He also became the first Indian to be invited to perform at the prestigious 

Lincoln Centre Hall in the U.S.A. He took part in the World Exposition in Montreal, in 

the Cannes Art Festival and in the Osaka Trade Fair. So well known did he become 

internationally that an auditorium in Teheran was named after him Tahar Mosque Ustaad 

Bismillah Khan.   National awards like the Padmashri, the Padma Bhushan and the 

Padma Vibhushan were conferred on him. In 2001, he was awarded India’s highest 

civilian award, the Bharat Ratna.                          

1x6=6 

11 i) When does the child realize that he has lost his way? How have his anxiety and 

insecurity been described? 

The child was attracted by many things on his way to the fair. Being drawn towards 

them, he often lagged behind but he would try to catch up with his parents whenever they 

would call out to him. However, things took a sad turn when he got so engrossed by the 

sweetmeat-seller, balloon-seller, garlands, and the snake charmer’s flute that he kept 

moving without waiting for his parent’s reply. Finally, he could not resist the roundabout 

and turned back for his parents’ response to his plea for a ride. At this point, he realised 

that he had lost his way since his parents were nowhere to be found. A deep cry of 

anxiety and insecurity choked his throat. Tears rolled down from his eyes. His flushed 

face convulsed with fear. Panic-stricken, he ran in all directions. Not knowing where to 
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go and what to do, he cried for his mother and father. 

                                     OR 

ii) Sue is a true and faithful friend. Comment. 

Sue displays the virtues of a true and faithful friend. She and Johnsy were young artist 

friends who shared a small flat. When Johnsy fell ill, Sue did not spare any effort to 

nurse her back to health. She exhibited the values of sincerity and commitment to her 

friend by calling the doctor who would visit them daily to review Johnsy’s condition. 

She tried to lift Johnsy’s spirits by talking cheerfully to her and thus exemplifying the 

value of unwavering support to a depressed friend. 

She would sit beside Johnsy’s bed and paint so that she could earn for herself and 

Johnsy. She comforted Johnsy and dealt with her cranky behaviour very patiently. With 

her cheerful disposition and her optimism, she tried her best to reassure Johnsy that the 

old ivy leaves had nothing to do with her illness. Sensing the seriousness of Johnsy’s 

health and her state of mind, she at once sought Behrman’s help. Thus, Sue proves to be 

a compassionate human being and a true friend. 

 

 


